Long Division and Scaffolding Division name:
Example: class time:

Take out the base 10 blocks for the
number being divided (the dividend),
. and make groups to show the

5) @4 amount divided by (divisor)

There aren’t enough thousands to
put one in each group, so trade the
thousand for 10 hundreds.

That gives uw)undreds

Distribute hundreds evenly to the
groups. There will be 3 hundreds in

3 each group (write the hundreds place
S)W of the quotient). In all we distributed
_is ’ 15 hundreds (write that they are
T 1 — used), so there is 1 hundred left
- 3 (write difference)
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l I l o Distribute as many tens as we can to
the groups. In all, we pt@ens in
each group (write in tens place of the

quotient). In all, we usen@ens
(write that in the work space), and
there are 3 tens left {write that as the
difference)
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S 322 v — We can't distribute any more tens, so

83 8t . - i we trade each of the 3 tens for 10
:‘“""" ""'""E““ ““'i ones. Now we have 34 ones. Write
:IE IE {: E E i the 4 ones next to the 3 for 3 tens to
:" " ¢ E show 34 ones are left
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e 55 1634 Distribute as many ones as we can

Tl i Pt L Lt b S ~15 evenly to the groups. Thereare_g
:E I'IEI ME] y IIE]I ! - ones in each group (write in
] 5’ ! Ve 13 quotient). In all we used 30 ones
m "30 " se ::"3. I I ge ! -10 (write in work space), and there are 4
] ‘r ! ; s ! ! ! 34 left (write as the difference and as
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2, Draw what the manipulativés would look at 35 Explain what each of the numbers represents
this point in the long division algorithm. 4) 1429 in the manipulatives and the probiem:
T 12 a. What is 47
- 8 & F - R
‘e : : : : —-——2—2 ) yw_,m\gﬂr o'g‘ %@“P}
SCIMME _20 b.Whatis 357 300 ww each. box
_ — - (o box
noo | ooo [pop [ooB)| 2 aud 5 tous jn ext
¢. What is 297
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3. Draw what the manipulatives would look at 4 Explain what each of the numbers represents
this point in the long division algorithm. 6j 2729 in the manipulatives and the probiem:
a. What is 67
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b. What is 4?
¢. What is 327
4. Draw what the manipulatives would look at 26 Explain what each of the numbers represents
this point in the long division algorithm. 3) 205 in the manipulatives and the problem:
j a. What is 37
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¢. What is 257







